LB 6: Vektorrechnung - Lésungen

Geg.: Punkte A(1;2;3), B(-2,-3;-3) , C(0;3;2), D(2;3;-2)
-3 -1 1 2 4 2
1. a) AB=|-5 ) AC=| 1 c) AD=| 1| d)BC=|6| e)BD=|6| f)CD=| 0
6 1 5 5 1 4
7 _26
2. a) -3AB+2AC=|17 b) 2AD-1BC c) -2BD-1CD=|-24
16 ~125 16
3. a) |— 3@|+|2E|z25,1+3,46 ~286 b) 2|ﬁ|—% BC|~1039-403~636 ¢ —%B——%@|z3,88
4. a) ABeAC=4 b) (1AD)s [2BG)=-112 ¢) (-2BDB)s(-4CD)=
11 w0 _24) (192
5. a) ABxAC=| 3 b) [ AD)x [28G)=| ~10 o) [-2BD)x(-4CD)=2| 18 |=| 144
-8 8 —12) (-96
6. a) [ABXAC|=V194 ~139 b) |(%ﬁ)x (2%] 255 0) |(—%ﬁ5)x (—gc_D']zzs,s
-3 1 2
7. a) |H3|: ~5| =470 ~837LE |A—c| 1 |=+/3 =173LE |%|= 6 | = /65 ~ 806LE
-6 1 5
> Upg, ~ 182LE
-3 1 4
b) |A—B|: ~5|=+70 ~837LE |AD| 1 |=+27 ~520LE |ﬁ|= 6 |=+53 =~ 7,28LE
6 -5 1
> U,g, ~ 208LE
2 4
o) |B_Cf =| 6] =65 ~806LE |ﬁ)| 6 |=+/53 ~7,28LE
5 1
2
|FD|= 0 |=+v20 ~447LE
4
> Uy, ~ 198LE
8. a) Sac(—3:%5:3) b) Spen(3:5:-%) ) Seco(0;1,-1)
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-3) (-1
—5 0| 1
-6) (-1) 4 .
9. a)cosa= o3 —m~0,2760 > a=740
2) (4
6|6
b) cosp = __4 ~0,8348 > Bp=334°
J65.53 /65.53 —_—
1 2
~1lo| 0
a) cosy= —Y =2 _ 02580 > y=1050°
J¥3-20 B0 —

-3 (-1 [0 § k| |11

10. a) A=||-5|x| 1 |=]-3 -5 —-6|=| 3 [=4121+9+64 =194

-6) \-1) |-1 1 -1 |-8

N (1Y |i § k| |[-4

by A=| 1 |x| 1 |=-1 1 -1=|-6|=v16+36+4 =+/56 =~ 75FE

1) (-5) [1 1 -5 [-2

-3\ (4 |i j k| | 3

o) A=t -5(x|6 :%—3 5 —g=1|-21 =% 312 421 + 4 ~ 1875FE

11.a) V=|| 3 |o| 1 :|54|:54VE

-8) |-5
1 -3) (1 -1 1
b)V:5 ~510x| 1 [[o| 1 =— -21 =§|—31—21—2|
-6) (-5)) (-1
1 2) (4)) (3 1 -24
C) V:— 6 X 6 o 5 =—
6 6
5) (1)) |6 -12

l|_54|z 18 VE
3 J—

3
18 [o|5 =l|—72+90—72|=1|—54|z9VE
6 6
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